Ramesh recently forecasted four economic situations which he
ieves are likely to occur with the given probabilities. Based on these

ations, an analyst made the following forecasts of the returns of stock
B and C. '

Situation Probability .(P) ' C?nditional Aetumms %
1A B C
gh growth | 0.20 - -13 -4 -9
w growth 0.15 - 16 e e 8
nation 0.40 { 8%, 21 16
cession 0.25 | 13 o TF .

Calculate the mean return .énd standér'd déviatioﬁ -of stocks A, B and
and advise which stock is good for investment. |
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Following is the data relating to five securities.

Security | A | B | C|D|E
Return (%) 8 8 | 12 | 4 9
Risk S.D) (%) 4 5 12 4 5

(i) Which of the secur1t1es shOLLﬂd be selected for mvestment? o
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Mr. Ned Stark purchased the following 5 scrips.

o's No. of Purc.hase Dividend Face Bonus Sell.ing
Bme Shares price Value Share Price
Ltd. 150 250 10% 10 1:02 275
Ltd. 200 180 25% 5 240
Ltd. 100 80 100% 10 1:05 108
Ltd. 400 240 25% 10 200
Ltd. 500 260 400% 2 295

Selling Brokerage: 1,900.
Calculate the Holdiné Period Return.

Purchase Brokerage paid Rs. 1,500.
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Investor’s assessment of return' on a share of X Ltd. under three
ifferent situations is as follows:

Situation | Chance (P) ‘ Return (%)
1 0.25 36
2 : 0.50 26
3 ' 025 12

Calculate the expected rate of return.
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Mr. Ashok purchased 10 shares of ACC Ltd. four years ago at Rs. 50
each. The company paid the following dividends.

Year1 'Yea.lr 2 Year 3 Year 4
Dividend per Share (Rs.) 2 2 25 3
Dividend Amount (Rs.) 20 20 25 30

The current price of the share is Rs. 60. What rate of return has he
earmed on his investment if he sells the shares now?
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Dr. Sukhi purchased 400 shares of Sundar Ltd. @ Rs. 61 each on 15th
October, 2008. He paid brokerage of Rs. 600. The company paid the

following dividends:

June, 2008 Rs. 800
June, 2009 Rs. 1000
June, 2010 Rs. 1,200

He sold all his holding for Rs. 34,500 (net) on 15th October, 2011

(1) What is the holding period Return? (2) What is the annualized
Return? (3) Is Mr. Sukhi a good investor?
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Mr. Jio purchased 100 shares of Reliance Ltd. at Rs. 50 each on
172014. He paid brokerage of Rs. 1,500. The company paid the
following dividends.

Year . ‘ | 1 2
Dividend per share (Rs.) 2 2 3
| Dividend amount (Rs.) 200 200 300

AW pp— — B E—— W S| e S —

Scanned with CamScanner



After holding them for three years he sold all shares at Rs. 90 each.

He paid brokerage of Rs. 2,000. Calculate holding period and Annualised
rate of return.
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C.alculate the expected rate of return from the following information
relating to B Ltd. '

State of the Economy Probability of occurrence Rate of Return
Boom 0.30 40%
Normal 0.50 30%
| Recession 020 20%
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~ The probability distribution of annual returns on a security are given

Return on Security : ‘Probability
-0.35 , 0.04
-0.25 0.08
-0.15 0.14
~0.05 o 0.17

0.05 Ea 0.26
0.15 - 0.18
0.25 0.09
035 ) 0.04

Compute the expected return on the security.
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Mr. Abraham has a portfolio of five stocks. The expected return and
amount invested in each stock is given below:

Stocks Expected return Amount invested
A | 014 10,000
B ‘ 0.08 20,000
C 0.15 R 30,000
D 0.09 15,000
E 012 . 25,000
Portfolio value . ' 1,00,000

Compute the expected return on Mr. Abraham’s portfolio.
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The rate of return on stocks of X and Y under different states of the

economy are presented below along with the probability of the
occurrence of each state of the economy.

Particulars Boom Normal Recession

Probability of occurrence ‘ 0.3 0.5 0.2

Rate of Return on stock X (%) - * - 25 35 45

Rate of Return on'stock Y (%) 45 .35 25

(i) Calculate the expected rate of return and standard deviation of
return on stocks X and Y. '

(ii) If you could invest in either stock X or stock Y but not in both
which stock would you prefer?
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The rate of return of stocks of A and B under different states of

economy are presented below along with the

occurrence of each state of the economy.

probability of the

S

= Boom Normal Recession
Probability of Occurrence 0.3 0.4 03
Rate of Return on stock A (%) 20.0 30.0 50.0
Rate of Return on stock B (%) 50.0 - ; 30.0 20.0

(a) Calculate the expected rate of return and standard dev1atlon of
return for stocks A and for stocks B.

(b) If you could invest in either stocks A or stocks B, but not in both,
which stock would you prefer and why?

(c) If the rate of return on stocks A was rewsed as shown below, would
your pref_erence in question (b) above change? Why?

Boom Noi'mal
50.0 40.0 30.0

Recession -

Rate of Return on stock A (%)
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The rates of return on stocks X and Y under different states of
economy are presented below along W1th the probablhty of the
occurrence of each state of the economy: .

- --| Boom Normal Recession
Probability. of occurrence 4 3 3
Rate of Return on stock X | 40 30 20
| Rate of Returnonstock ¥ ratis 30 ' 25 15

(i) Calculate the expected rate of return and standard deviation of
return of Stocks X and Y. |

(ii) If you could invest in either stocks X or Y, but not in both, which
stock would you prefer? |

‘ol k] -
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Mr. A has invested equal amount in Security X and Security Y. The
expected returns during the boom and depression with equal probability
of occurrence are as under: - -

Economic Conditions Expected Returns of
Security X Security Y
Boom : 6 12
Depressxon : . 15 . 5

Calculate expected return and standard dev1at10n of each secunty
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The rate of return on Stocks X and Y unde

economy are given below:

rl different states of the

Boom

Normal Recessio

| n |
Probability of occurrence 0.35 0.50 015 |
Rate of Return on stock X (%) 20 . 30 40 |
Rate of Return on stock Y (%) 40 30 20 ’

g
{1
y

both the stocks.

which stock would you prefer?

Calculate the expected return and standard deviation of return on

W 1If you could invest in either stocks X or stock Y, but not in both,

i) What would be your decision if the probability changes to 30: 40:

307?

h_- -
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— ;

Economy | Y (%) R G G P (Y- Y2
v
Boom 40 10 100 0.30 3000
Normal 30 0 0 0.40 0.00.
Recession 20 =10 100 0.30 30.00
- 60.00

~. Standard Deviation =4/60.00 = 7.75

If the probability changes to 30:40:30 then both the stocks have sz

i

[1lustration 3.24:

: s well as risk. H i -
| returna ence, investment can be made in any stock.

The rate of return on stock M and stock N under different stat
economy are given below:

l State of Economy Probability Stock A (%) Stock B (‘?.’I
| Boom 0.3 30 50
' Normal 0.4 20 20
LRecession 0.3 50 30

Calculate the expected return and standard deviation of retur
Stoc}’\ M and stock N. If u could invest in either stock M or stock N
notin both, which stock would you prefer and why?
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Following is information about shares of ABC Ltd. And XYZ Ltd,
der different economic conditions. At present both shares are traded

. 100.

Economic Probability. - Expected price of ﬁxpected price of
Condition Share ABC Ltd. Share XYZ Ltd.

igh Growth 0.3 140/- _ 150/- _
w Growth 04 110/- 100/-
gnation , 02 120/- 120/-
ession 0.1 - - 100/- 1 80/-

(i) Which company has more risk to invest?
() Mr. Ram wants to invest Rs. 10000
(1) Only in ABC Ltd. (2) Only in XYZLtd.
Which is better option? Justify. i

(iii) Will your decision change if probabilities are 04, 04, 0.1, 0.1

respectively?
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nustration 3.LY:

The rate of return on stock of X and Y under different state of the
snomy are presented below along with the probability of the

ccurrence.

State of Economy Probability Stock X (%) Stock Y (%)
Boom 0.5 . 30 35
Normal 0.3 35 40
Recession 0.2 ' 25 30

1) Calculate the expected rate of return and standard deviation of
return on stock X and Y. ;

(2) Which stock is better investment option?
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Returns of two assets X

and Y under four possible situations ar

given.
Possibilities Probability Returns on Asset — X Returns on Asset-Y
1 0.15 5% 6% g
2 0.25 12% 9%
3 0.50 15% 18%
4 0.10 20% 24% ‘
Find out: E

(1) Standard deviatiqns for both Assets — X and Assets — Y.

(2) Covariance between Assets — X and Asset - Y.
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The returns of two assets, under four possible states of nature, are
Fiven below:

State of Nature Probability | Returns on Asset1 Returns on Asset 2
T -~ 0.20 8% | 2%
2 0.25 10% 8%
3 0.35 12% 12%
4 0.20 14% 14%
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Calculate:
(1) Standard Deviation for asset 1 and asset 2

(2) Co-variance between return of asset 1 and 2
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Returns for X and Y under four possible situations are given:

AR A 4

Situations Probabilities Return on X Return on Y
1 - 025 12% 10%
2 0.25 15% 15%
3 0.25 | 20% 59%
. 0.25 O 10% 25%

Find out: Portfolio risk and retum 1f the portfolio contains stock X
and Y in equal proportion.-
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returns for X and Y under four possible situations are given:

Gituations Probabilities Return on X Return on Y
0.25 12% 10%
0.25 15% 15%
0.25 20% 5%
0.25 10% 25%

Find out: Portfolio risk and return 1f the portfolio contains stock X

and Yin equal proportion.-

Scanned with CamScanner




Mr. Nitin has two investment options i.e. security M and Security
worth price Rs. 200 and Rs. 250 respectively.

Security M Security N 1
Probabilities Expected Price Probabilities Expected Price |
0.3 220 0.5 280 |

05 250 0.4 290

0.2 260 0.1 260

Calculate expected returns-and deviations. Out of these two which is
better investment option.
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The rate of return of stock A and B under different states of economy

are given below:
Boom Normal Recession
Probability of Occurrence 0.30 0.50 0.20
Rate of return of stock A 30% 50% 70%
Rate of return of stock B 70% 50% 30%

(i) Calculate the expected return and standard deviation of return

(i) If you could invest in either stock A and B, but not in both,

CAl__ae* _

on both the stock.

which stock would you prefer?
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The rate of return on stock A and stock B under different state of
economy are given below:

State of Economy Probability Stock A (%) Stock B (%)
Prosperity 0.6 40 50
Depression 0.4 30 20

e Calculate the expected return and standard deviation of retumn
on stock A and stock B.

¢  What would be your decision if the probability changes to 0.30:

0.50?
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The rate of return on stock P and stock Q under different state .of

economy are given below:

Probability

State of Economy Stock P (%) Stock Q (%)
Boom 0.5 15 10
Normal 0.3 20 20
Recession 0.2 25 35

Calculate the expected return and standard deviati

stock P and stock Q.

Which stock is a better investment option? and why?

("'-1,4-! _

on of return on
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The rate of return on stock M and stock N under different state of
onomy are given below:

State of Economy Probability |  Stock A (%) Stock B (%)
Boom 03 30 50
Normal ; Q0 T et g 20
Recession ‘ 0.3 50 30

Calculate the expected return and standard deviation of return on

gtck M and steck N. If u could invest in either stock M or stock N, but
In both, which stock would you prefer and why?

olutinn-

Scanned with CamScanner



From the following information calculate B

Year

Return on Security %

eta of 5 security:

- Retum.Lon Miu"ket Portfolio %
1 10 | ' |
ﬂ ‘ 12
2 12 11
2 15 14
“‘: 10 12
5 08 11
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Calculate beta B in case of share of Nelco Ltd., who:sereﬁlrns ang
market portfolio returns are given below:

Year \ Nelco Ltd. Market Portfolio Retums |

1 . 20 N 14 |

2 24 .. 18 |

3 - VR P . |

4 15 N 14-

5 (-) 10 - 8

6 12 | - 10

7 18 . 16

8 28 | 30 -

9 | 3 35

10 : 40 . 2 B
.
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From the following data calculate Beta of security.

Return on Market Portfolio (%)

Year Return on security (%)
1 12 14
} 2 13 16
3 15 21
4 12 23
5\J 13 16
. %
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Calculate Beta in case of share of Nelco
market portfolio returns are given below:

------ wip 10}

Lid. whose returns ang

Year Nelco Ltd. Market Portfolio Returns

) 1 20 14
2 24 19
3 10 9
4 15 14

5 (-) 10 )8
6 12 10
7 18 16
k8 28 30
9 33 35
10 40 42
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rom the following details calculate Beta of a security.

Return on Security (%)

Return on Market Portfolio (%)

\
10 12
12 10
13 ; 10
10 12
8 15
11 14
16 20 -
12 15
18 20
20 22
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Compute the beta factors and expected returns for Keshay Ltd. and

Madhav Ltd. Return on government securities is 9%,

Returns in earlier

years are:
Year Keshav Ltd. | Madhav Ltd. ' Market
1 20% 16% ' 14%
2 22% 18% 16%
3 20% 20% 18%
4 18% 18% 12%

Calsstinse.
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Mr. Krishna has invested equal amount on security X and security Y.

Expected Return Security X Security Y
In Prosperity 5 13
In Depression 14 6

The probability of prosperity and depression is 0.5 each. You are
required to calculate expected return and standard deviation of
individual securities as well as the portfolio.

" o) 1
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A stock costing Rs. 120 pays no dividends. The possible prices that

the stock might sell for at the end of the year with respective

nrobabilities are:

(1) Calculate the expected return.

Price Probability
115 0.1
120 0.1
125 0.2
130 0.3
135 0.2
140 0.1

(2) Calculated the standard deviation of returns.

hil...._ -~
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You are required to calculate beta factors and ekpected returns for
Dine/R Ltd. and Dime/S Ltd. (using CAPM) and offer your comments.
Risk free rate of return is 7%. - 3 |

Year Dine/R Ltd. (%) | Dime/S Ltd. (%) Market (%)
1 13 .t 13 15
2 14 14 . 16 |
3 - ' 13 ,. 10 15 ,
4 | 12 , 11 | 14 4__,]'
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~ Youare required to calculate beta factor and expected rate of returns
0rPLid. and Q. Ltd. (Using CAPM), Risk free rate of return is 8%.
Year P Ltd. % . QL. % Market %
|1 20 20 14
2 20 18 18
3 24 18 15
{\4 16 16 13
HJIS HE- 7T

——— O

— - T N N L Y TR WS W L - .
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The returns of 2 Assets, under four possible stateg of nature

are given
elow:

State of Nature | Probability |. Returns on Asset 01 Re‘fums on Asset 02
1 0.10. , 5% 0%
2 0.30 ‘ 10% 8%
3 0.50 - 15% . 18%
4 - 010 | 20% 26%
Find out: h e

i) Standard Deviation fo.r~AASSet 01 and Asset 02
(i)

1 .

Co-variance between Returns of Asset 01 and 02.

Scanned with CamScanner



T T WS W W W W W W T e =

Given below are the likely returns in case of shares of Ram [,
Shyvam Ltd in the various economic conditions. Both to .-

presently quoted at Rs. 250 per sharés.

| Bconomic conditions | Probability | Returns of Ram Ltd. (%) | Returns of §
|High Growth 0.25 110
|Low Growth 0.25 130
‘Stagnation 0.30 160
im 0.20 190

(1) Which of the companies is risky investment?
(2) Which is better option for investment?
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Given below are 1iké1y returns in case of shares of Ram Lid. and

shvam Ltd. in various economic conditions. Both the shares are
presently quoted at Rs. 250 per shares.

Economic Probability s Expected Price on Expected Priceon |
conditions Ram Ltd. Shyam Lid. ’
| Figh Growth 0:25 210 | 280 }
| Low Growth 0.25 | 260 230
agnation 0.30 290 270
| cession 0.20 280 260
(1)

Which of the companies is risky investment?

(2) Which is better option for investment?
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f re
rurns of two assets, under three possible states of nature.

N

- helow ! R —
| - i Roturns wn Lo
suste of nature T Probability Return on Asset
| % : ;
! .
1 ozs 18 ’
| b
i 0.25 12 |
| 0.50 13 12

R | . :
alculate co-variance between return of assets | and asset

{
Miluticun-.
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Returns of two assets X and Y under four possible situation are given

Possibilities Probability Return on asset | Returns on ;a\
X Y
1 0.15 5% 6%
2 0.25 12% 9%
3 0.50 15% 18%
4 0.10 : 20% L. 4% . S |

Find out covariance between Asset - X and Asset-Y
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(1) The following information is available about two securities A and B.

: Particulars =~ A B
'Expected return 10 % 12 %
Standard deviation of expected return 15 % 10 %
Correlation coefficient with_ the market - - | 0.6 0.4
Beta | el 0.7 0.8

Which of the two securities is more risky? Why?

(Ans.: Security A is more risky because its standard deviation is higher
han B. Correlation coefficient of security A with the market is also higher
han security B. Beta for security A is lower than security B, however it is

s CIRES less than 1).

2) (a) The risk free return is 8 percent and the return on market

portfolio is 12 percent. If required return on a stock is 15 percent,
What is its beta?

(b) The risk-free return is 9 percent. The required return on a stock

Whose beta is 1.5 is 15 percent. What is the return on the market
portfolio?

{ G o Ans.: (a—1.75), (b— 13%)).
‘ (13) Mr. Shar (

[———n"arma’s portfolio return are given below:

[———_ Year Securities - Return
1 X 12
1 Y _ 10
2 X 18

Star1da\rd deviation of both the securities is 3.
mm i e DR YN 0 Rl L APPTR PR AT AR m e v
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Calculate:

(a) Expected rate of return on
X and 50% of Y,

(b) Co variance of X and Y, and

(¢) Portiolio risk made up of 50% of X ad 50% of Y;
(Ans-: (a) 14 A!, (b) 8, (c) 0-88)

f three securities. From the followiy
nd rate of return on individy,

his portfolio if it is made up of 509, !

(14) Mr. Vipul has a portfolio o
details compute the portfolio returns @

securities.

Security Price as on Price as on Yearly )
31.12.94 31.12.95 Dividend
A 20 - 30 2 Vi
B 30 40 3
C 50 60 5

(Ans.: PR - 40%, A—60%, B—43%, C~ 30%)

(15) (@) What v'vill»be the expected return on a portfolio composed of the
following securities?

Security Expected Return % Proportion %
A - 10 25
B 15 25
C 20 50

(b)What will be th

security in the portfolio is 20, 30 and 50 respectiv

| (16) From the following information calculate the Bet

e expected return if the proportion of each

ely?

'(Ans.: (a) 16.25%, (b) 16.50%).

a of a security.

Year Return on Security Return on Market
% Portfolio % .
1 10 12 '
) 2 12 11
3 15 14
4 10 12
5 08 11 e

(Ans.: Beta = 1.67)

(17) Mr. Anand has a portfolio of two securities with 50% investment in
and 50% investment in Y. The characteristics of returns

X
under thre®

different scenarios with different probabilities for the two gecuritie

and the portfolio are given below: e 7
Scenario Probabllity Retur:‘/"" X' Returnon 'Y’ Return on
> % Portfolio (%L1
Boom 0.25 40 20 30 :
Normal ,0.50 30 30 | 30"
Recession 0.25 20 20 I

T LTt —
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Ca|culate the expected return and

(Ans.: X—30%, Y -25% p 2
What will be the expected return 0;1 a P

st i
andard deviation of security

%, 7%, 5%, 4.33%).
portfolio composed of the

a v
(1) §0|)|owin9 securities?
cect rity Expected Return % B
: 10 roportion %
; 15 ”
b)What will be the expected return if the proportion of each

security in the portfolio is 20, 30 and 50 respectively?
Ans.: (a) 16.25%, (b) 16.50%.

ave been asked. by your client for advice in selecting a

(19) You h
portfolio of assets based on the following data:

Year - Return (%)

X Y z
1998 15 14 20
1999 16 16 18
2000 18 18 16

reate portfolios by investing equal

You are requested to C S
proportions in each of the two different securities. Calculate:

(a) Expected return on each of these securities.
(b) Standard deviation-on each of security’s return-

(c) Expected return on each portfolio.

(d) Standard deviation of each portfolio. .
(€) Which portfolio would you recommend | |
) o Do ol the following information regarding

20) Mr. Shekhar has supplied you
N lnvest:?-nsZ R lﬁw/,
__Return (%) Probabllltl______dw “——_—’_—r%ﬁa-—/
25 0.30 v 49 0.30
20 0.50 19 oy
10 0.20 o B L
T Wﬂe of the securities. .

He wants to invest RS-
lected for

Which security should be S€
m MM
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